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(1) The power of judiciary 0 examine the c""sﬁt"ti(nnality of legislative enactments and executive

orders
(2) The power of judiciary to defl
(3) The power of judiciary t0 defin

Judicial review is

ne and interpret the Constitution

e and iﬂtel'pret the laws

(4) The power of judiciary to resolVé the disputes between the Centre and the States

The 2026 Asian Games will be held it which of the following cities of Japan?

(1) Hiroshima and Nagasaki
(2) Aichi and Nagoya
(3) Osaka and Kobe

3

| The Vlce-Pi-es_ldent of Indm may be removed from his/her office by

(1) lmpeachment ; :
(2) A resolution passed by Rajya Sabha with a majority and agreed to by Lok Sabha

(3) A resolution passed by Lok Sabha and Rajya Sabha with a two-thirds majority.

0 (4) A‘ré%ol’tiﬂn passed by two-thirds m:_lju’rity in the joint session of Parliament

Aé‘cording to Alrticle 117(3) of Indian Constitution, which of the following statements is/are correct

regarding Financial Bill?
a) The Bill should be introduced ﬁrsfi in Lok Sabha only.
b) This Bill can be introduced in house only on the recommendation of the President.

c) Rajya Sabha has the power to reject this Bill
d) In case of disagreement between the two Houses of Parliament regarding this Bill, President

can summeon a joint sitting.

Options:
(1) a and b only (2) a, b and c only

(3) ¢ and d only (4) b only
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js wrong regarding ¢e post of Governor?

5. Which of the following statement
(1) A person can be appointed as the Governor of more than one state at the same time.
(2) Governor is appointed by the president.
(3) The impeachment procedure is followed for the removal ‘of the Governor.
(4) V. S. Ramadevi was the first womaﬂ Governor of Karnataka.
6. TheH.C.F.of1.75,2.8 and 7 is
(1) 0.07 (2) 0.35
3)0.7 (4) 3.5
i 8 Ifx= ‘/§+ 1 , then the value of 5x2-5x—1is
V5= v
100 | @23 ")
3) 4 @S
8. In a certain langhage 'NONE!' is written as 'LQLG‘, then how will '"LAMB' be written in that
code? T
(1) JCDK (2) JCKD
(3) JDCK (4) JDKC
9. A builder undertook to finish a work in 92 days and employed 110 men. After 48 days, he found
that he had already done Ll part of the work. Then the number of men he can withdraw so that
5 .
the work may still be finished within the time is
2) 80
(1) 20 @
4) 30
(3) 100 @
10. Amo‘:g the following numbers, which is the greatest one?
225[', 320{]’ 4150, 5100
200
g
3) 4150 4) B
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umb
feach n er is increased by 4, the ratio changes to 3:4. Then

Two numbers are in the ratio 2:3.1

11.
the numbers are .
(1) 8 and 16
(2) 8 and 15
(3) 8 and 12
(4) 12 and 22
2. In which of the following expression®: expression 'M > R' does not hold true?
(HM=P>Q>R ?)M>P>Q=R
G)R=P<Q<M 4)M=P<Q=R
13.  What is the number which when added (0 20% of 460 makes the sum equal to 70% of 9207
(1) 762 (2) 926 :
(3) 335 (4)552
14. A pump can fill a tank with water in 2 hours. Because 0f}eak, it took 2!/, hours to fill the tank. The
" Jeak can drain all the water of the tankin fy .
- (1) 4"/, hrs _ S
(2) 7 hrs : : £3 ;
(3) 8 hrs
(4) 14 hrs | |
15. The compound'intere& on T 30,000 at 7% per annum is 7 4347. The period (in years) is
(12
(2)2 %
33
@4
16, Identify the mismatched pair.
(1) Goitre oA DéﬁCiéﬂcy of iodine
(2) Diabetes mellitus - Deficiency of insulin
(3) Diabetes ingipidus - Deficiency of vasopressin
(4) Acromegaly . Deficiency of thymosin- .
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17.

18.

19.

20.

21.

Consider the following statements:
jldings
of some buildings are Constructed with hollow bricks.

Statement I: The outer walls

; i hol
Statement I1: The air layers trapped inside hOllow brickg keep house cooler in summer season and

hot in winter season.

Choose the correct option.

(1) Statement 1 is correct and L is incorrect

(2) Both statements I and 11 are correc
and statement II is the correct explanation of I

o

t and statement I1 is not the correct explanation of 1.

(3) Both statements I & 11 are correct

(4) Both statements are incorrect.

At temperature water has highest ;Llensity,'“' fE ) 8
(1) 0°C Tl o
i (4) 100°C

Which of the following are the examples for chemical process?
a) Melting of paraffin wax --
b) Sublimation of camphor

¢) Burning of fuel (Combustion process)
d) Cooking of food (Boiling)

(1) a and b only (2) b and c only

® canddonly SHIKARAT.COM

the rate of evaporation increases with

(4)a, b, c and d

In atmosphere,

(1) Decrease in the humidity

(2) Increase in the humidity

(3) Decrease in the temperature

(4) Decrease in the surface area

erium is found in the root nodules of g
2) Photosynthesis

Rhizobium, a bact arden pea plants. It helps in

(1) Nitrogen fixation
) CO, assimilation

(3) Sulphur metabolism .
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Consider the following statements:

stable con
a) Myopia can be corrected using 8 SWi®? cave lens,

b) Hypermetropia can be corrected using 8 suitable conyey lens.
Among the above two statements,
(1) Only a is true

(2) Only b is true

(3) Both a and b are true

(4) Both a and b are false

A 5 kg object is taken to moon. Then

- (1) Its mass will decrease

(2) Its mass will increase
(3) Its weight will decrease -
4) Its weight will increase #

If the speed of the object is doubled, its ldneﬁg energy
(1) Becomes doubled ! |
(2) Becomes four times
(3) Becomes halved

(4) Remains unchanged

Match list-I with list-1I
List —1 List—11
a) Albuminous seed i) Groundnut
b) Parthenocarpic fruit i) Mango
¢) True fruit iii) Banana

d) Non-albuminous seed | iv) Maize

Choose the correct answer from the options given below:

(l)a—'iv,b—iii,c-ii,d—i

(S)a—-iii,b—iv,c—-i,d--ii (4)a-—i,h

(2)a—iv,b—iii,c-—i,d—ii

— i, ¢ —iii, d —iv
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Public goods are

hat are i
a) These are the resources oF services ¢ AVvailable for everyone.

b) Indivisible because no on¢ can divide public goods for personal use.

Select the correct answer using the codes given below,

(2) Only b
(4) Neither a nor b

(1) Only a
(3)Botha&b

Match the following
Name of the programme Year
a) Nari Sakthi Vandan Adhiniyam i) 2016
b) Mahila e-Haat ii) 2517
¢) Materinity Benefit (Amendment) Act iii) 2023
d) Sexual Harassment .of Women at Wurkplace
i

(Prevention, Prohibition and Redressgl) Act
(1) a —iv, b — i, ¢ — ii, d — i (2) a—i, b —ii, ¢ — iii, d — v
(3)a—iii,b—ii,c—i,deiv (4)a—iii,b—i,|:—ii,d—iv

Consider the following statements regarding B. P. Mandal Cmgmittee Report.

a) It recommended 15% reservation for SCs. i

b) It recommended 7.5% reservation for STs.

¢) It recommended 27% reservation for OBCs.

d) B.P. Mandal Committe

Identify the correct statements.
(1) Only a, b and ¢ are correct (2) Only a, b and d are correct-
(3) Only a,d and ¢ are correct (4) Only b, c and d are correct

SPACE FOR ROUGH WORK
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29.

30.

31.

32.

(ates Aaccount \
ar § for nearly 50% country's Scheduled Caste

According to 2011 Census, fo ’
s from th
¢ highest to lowest Scheduled Caste population.

population. Arrange the following state
Tamil Nadu

Bihar

Uttar Pradesh

West Bengal

(1) Uttar Pradesh, Bihar, Tamil Nadu,
(2) West Bengal, Uttar Pradesh, Bihal,
(3) Bihar, Uttar Pradesh, Tamil Nadt,
(4) Uttar Pradesh, West Bengal, Bihar,

West Bengal
Tamil Nadu
West Bengal
Tamil Nadu

T

Consider the following statements regarding Swachh Bharath Mission.

a) It was launched in October 2014
b) It has two sub missions. SBM-G and SBM-U.

¢) The fund sharing ratio between Central and State Government is 50:50 except North Eastern

states. TR S _
d) The sharing of fund i‘or North Eastern states is 75:25 by both Central and State Governments.
Identify the correct statements. ' '
(1) Only a and d are correct
_(2) Only a and b are correct
(3) Only b and ¢ are correct

(4) Only a2 and ¢ are correct

"~

v

"Indian Grape Processing Board' is located at
(2) Mumbai

(4) Pune

(1) Chikkaballapura

(3) Hubballi

s provided by which institution?
(2) IMF

Extended fund facility service i
(4) ICICI!

(1) IBRD
(3) IFC

e —

{
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33. Gases which float into space from exosph >

(1) Helium and Hydrogen
(3) Hydrogen and Nitrogen

(2) Oxygen and Hydrogen
(4) Oxygen and Nitrogen

34. As the air gets , its capacity 10 hold Water vapour and so it becomes more humid.

(1) Warmer, Increases
(2) Warmer, Decreases
(3) Cooler, Increases

(4) Cooler, Decreases

and respectively.
(2) Teak and Lion

(4) Sandal and Elephant

35 | State tree and animal of Ksirnataka are
(1) Banyan and Tiger
(3) Rosewood and Deer

¥
36. -Consider the following information.

Waterfall | - Region River

A | Kapila dhara Amara kantaka Narmada

B Hogenakal " Deccan Plateau | © -~ Kaveri

C | Papanasam Nilagiri  Thamrabarani

D Lalaguli . Western Ghat Kali
In which of the above rows is/are the given information is/are correctly matched?
(1) Only A (2) Only B
(3) Only C (4)AllA,B,Cand D

37. Which of the following states are well'k‘nown as the two largest tea producers in India? 7

(1) Assam and West Bengal
(2) Tamil Nadu and Kerala
(3) Karnataka-and Gujarat™ ~
(4) Kerala and Karnataka

38. Which one of the following ocean currents does not flow into the Atlantic Ocean?

(2) Kuroshio current

(1) Antillen current
(4) Gulf stream current

(3) Florida current
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39.

41.

Consider the following information:

Continents Rivers Tributaries
A Africa River GANES Sutlej
B | South America Amazoll Negro
C Asia River Ob Irtysh

In how many of the above rows is the given information correetly matched?

(1) A only (2) B only
(3) C only (4) B and C only

SHIKARAT.COM

Consider the following s.'tatemer;fs regarding the location of India.
a) Latitudinally the mainland of the ﬁttfﬂlllt.l'_:jrr éxiEnds from $°4' North to 37°6' North.
b) India is located entirely in the.Northel_'fl Hem-i'sphere.
c) India is a peninsular country, located i:jr,tho_z southern part of Aﬁia.

0 g - ;
Which of the statements give;_ 'above is!al‘géj correct?
(1) a only | |
(2) b only
(3) a, b and c

(4) conly /

Which of the following countries are the two largest iron ore producers in the world?

(1) Brazil and USA
(2) Australia and China
(3) Sweden and Canada

(4) India and South Africa

SPACE FOR ROUGH WORK
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43.

44.

~ (1) a only correct

Consider the following information.

RegigllS_______r—______Thrust zones .
A |B Himalayas - b
etween greatei‘ Main boun dary thrust zone

lesser Himalayas _ —T———

F g:m:fil;(lesser s . Main central thrust zone
C | Between Shiwalik & Norther™ Himalayan frontal fault
plains TSN
In how many of the above row/rows is/are the given information correctly matched?
(1) None
(2) Only two I . o TN
(3) Only one _ ' oy
(4) All the three :
Match List-I (States) with List-II (Waterfalls) with the codes given below.
List-1 List-I1
(States) (Waterfalls)
a) Madhya Pradesh i) Unchalli -
b) Karnataka ~ ii) Dhuan Dar
c¢) Meghalaya iii) Dudhsagar
d) Goa iv) Margaret
Select the correct answer with correct ma’t’clhing codes: b
(1) a — iii, b~ ii, c— i, d =iV gl @) a—ii,b—i, ¢ — iv, d i
(3) a—iv, b—i, ¢ —iil, d - (4) a — i, b —ii, c — v, d — i
Mention the correct statements related to sericulture production in India.

a secured first rank in sericulture production in India.

a) Karnatak
Pradesh and Assam secured first three positions in the production of

b) Karnataka, Andhra
sericulture. :
(2) both a and b are correct

(3) b only correct _ 4) b_ot-h a and b are incorrect
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Western Ghats is not spread in the state

(1) Kerala (2) Karnataka

(3) Andhra Pradesh (4) Maharashtra .
The columns in a Microsoft access table are called ag

(1) Macro (2) Columns

(3) Records (4) Fields

TV broadcasting uses type of transmission :

(1) Simplex : (2) Half duplex

(3) Full duplex } (4) Semi duplex

Consider the following rivers:
a) Rio Parana

b) Madeira

¢) Rio Purus

d) Rio San Francisco |
Which of the following statements is correct with regard to above mentioned rivers?

(1) All are north American rivers
(2) All are south American rivers
(3) All are African rivers | 7

- (4) All are Australian rivers

Select the correct statements from the following:

a) Plantation agriculture is practised'i;;a'ilifly‘_in' tropical countries.

b) Mediterranean region is famous for citrus fruits cultivation.

¢) Slash is a shifting cultivation

d) Dairy farming is common in temperate countries.
(1)aand b bnly '

(2) a, b and c only

(3) a, ¢ and d only

(4)a,b,candd | o

'SPACE FOR ROUGH WORK
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; 50. Consider the following British ActS that caused dissatisfaction among Indians in 1870s and 1880s:
a) The Arms Act
b) The Vernacular Press Act
:! ¢) The llbert Bill
How many of the above Acts/Bill is/are correct?
i' (1) Only one (2) Only two
| (3) All the three (4) None of them
51. Which one the following committee/commission recommended the establishment of
Nyaya Panchayats? R .
(1) Balwant Rai Mehta Committee (2) Ashok Mehta Cbmmittee
(3) G.V.K. Rao Committee . (4) K. Santhanam Committee
52. The entity relationship set is represeiltediin ER diagram as ; ‘"‘i
| (1) Double diamond " (2) Undivided rectangles
| (3) Dashed lines (4) Diamond
53. The famous "IHimavad Gopalaswamy Hill" is located in which of the following Taluk of ‘
Chamarajanagar district? / .
(1) Gundlupete (2) Yalanduru
(3) Kollegala (4) Santhemaralli
54. "Swadeshimitran" newspaper was founded by . e
(1) Dadabhai Naoroji Wy, (2) Gopala Ganesh Agarkar
(3) Pherozeshah Mehta | (@) G.S. Tyer
55.  Which of the following is/are called "Robbery Economy"?
a) Mining e G
b) Fishing
¢) Lumbering :
(1) a only (2) a and b only
(3) b only (4)a,b and ¢
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57..

58.

59.

60.

61.

62.

; & _
Identify the religious texts related to the Jain religion,

(1) Pitakas . (2) Angas

(3) Aranyakas (4) Abhangas

Which of the following river basins if Karnataka produces highest sugarcane?
(1) Krishna (2) Cauvery

(3) Godavari (4) Sharavathi

Haveri district ranks first in the production of _________ inKarnataka.

(1) Ginger (2) Turmeric

(3) Chillies _ (4) Garlic

Identify the correct statements regarding rural drinking water.

a) Government aims to provide 55 litre of drinking water per person.

b) It is the responsibility of local/state/Central Goverhmem to provide drinking water

c) Jal Jeevan Mission is a state government pro;ect
d) Rural areas depend on ground and surface water for drinking water

Pick the right statements. ’
(1)a,d,band c g o @) and b
(3)a,dand c AR _- (4) b, a and d

Choose the correct option from the following with reference to the chronology of Gupta rulers.

a) Kumaragupta

b) Ramagupta

¢) Samudragupta
d) Chandragupta-II

(1) b,c,d,a . R Ly dybsa

3)d,c,a,b ALY il (4) a,¢, b, d \
_ The poet, Nagachandra was adorned by which of the following king's court?

(1) Vishn uvardhana (2) Ballala-1

(3) Ballala-11 (4) Nrupakama-I

During the rule of which of the following king the English travelleRs fitch & newberry visited?
(1)) Krlshnadevaraya : (2) Tbrahim Adil Shah —II
(3) Mohammed Adil Shah : (4) Devaraya — I
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¢3. How many of the following is/are exempted from the Draft Legal Metrology (Indian Standard

Time) Rules, 2025?
a) Astronomy

b) Navigation

¢) Scientific Research
d) Railways

(1) All of them (2) Only three

(3) Only two (4) Only one

64. Consider the following personalities.
a) Smt. Vijayalakshmi Deshamane
b) Shri Venkappa Ambaji Sugatekar
¢) Shri Ricky Gyan Kej : e
d) Shri Prashanth Prakash i

-

¢) Shri Hassan-Raghu' Sap] | PSS A Sia v :

How many among the above have been selected for Padma Shri awards for the year, 2025? ‘
(1) All the five ' L - : (2) Only four

(3) Only three | (4) Only two

65. In how many of the following dist;;_lji_ctftiils.tr_igts, Kisan Mall (announced in Ka;'ﬁataka
Budget 2024-25) will be set up in the first phase? S :

a) Mysuru i :

b) Chitradurga

c¢) Davanagere

d) Maddur (Mahdya)

Options: \

(1) All of the above . (2) Only three
(3) Only two i : (4) Only one
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To control increasing cyber crimes, iD which state India's first cyber command centre has been

established in April, 2025?
(1) Karnataka
(2) Maharashtra

(3) Telangana
(4) Gujarat

Which of the following statement/statements with regard to SpaDex is/are correct?

a) Expansion of SpaDex is "'Space Docking Experiment",'

b) The SpaDex mission consists of two small spacecrafts of about 220 kg each.

¢) The two small spacecrafts were launched by GSLV.

d) Both these spacecrafts were launched from Satish Dhawan Space Centre.
(1)a,b,cand d (2) a, b and c only
(3) a, b and d only ~ (4)donly

On 14 May, 2025, who was sworn in asthe 52" Chief Justice of Supreme Court of India?

(1) Justice J.K. Maheswari
(2) Justice Surya Kant . A
(3) Justice Bhushan Ramakrishna Gavai

(4) Justice Sanjeev Khanna _ ' ; :

Which of the following pair/pairs isiaré .'correctly matchgd with respect to 97® Academy-' Awards
20257 '
a) Best Picture - The Brutalist -
b) Best International Feature Film - I'm Still Here
c) Best Animated Short Film - In the Shadow of Cypress
d) Best Documentary Short Film - The Only Girl in the Orchestra
(1) b and c only ' (2) conly
(3) a, b and c only _ (4) a,b,cand d
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71.

72.

73.

74.

75.

What is the name given by pakistan t0 its military gperation in response to India's "Operation

Sindoor"?
(2) Operation Rah-e-Nijat

(1) Operation Al Mizan
(4) Operation Bunyan al-Marsoos

(3) Operation Zalzala

Currently who is the Chairman of Indian Space Research Organisation (ISRO)?

(1) S. Somanath (2) V. Narayanan
(3) Samir V. Kamat (4) Vivek Bhasin \
Expand SIPRI

(1) Sweden International Peace Research Institute
(2) Stockholm International Peace ResearCh Institute
(3) Shivaji Indian Peace Research Institute

(4) Sindhu International Peace Research Institute

Among the sports personalities mentioned below, who is not the winner of Major Dhya
Khel Ratna Award, 2024? '
(1) Manu Bhaker 2

(2) Gukesh Dommaraju
(3) Subhash Rana

(4) Harmanpreet Singh

Under 'One State, One Regional Rural Bank' policy fr'om May 1, 2025 Karnataka has one

Regional Rural Bank namely “Karnatfika Grameena Bank". It will be headquartered at

"\;‘.

(1) Bengaluru : g, (2) Ballari.
(3) Belagavi _ (4) Hubballi

What is the duration of "Clean Mobility Policy" which was unveiled by Government of Karnataka during

Invest Karnataka - 2025, the Global Investors Meet?
(1) 2025 - 2035 (2) 2026 - 2031
(3) 2026 - 2036 (4) 2025 - 2030

n Chand
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76. Identify the Mahajanapadas grom th¢ followmig:
a) Anga |
b) Magadha
¢) Koshala
d) Kalinga
(IDaandb
(3)a,band ¢ @ab,candd

(2)a ang ¢

in "GEogr '
77.  Which of the following city referred in "GCOBYAPhY' of Peglemy wag the trade centre between India

and Rome?
(1) Amaravati (2) Aihole
(3) Arikamedu - (4) Broach

78.  In which year was the Hindustani Seva Dal, founded by N.S. Hardikar, merged with the Indian

National Congress?
(1) 1924
(3) 1931

79. Which of the following Pallava ruler had a title of 'Vatapikonda'?

- (2) 1929
(4) 1935

(1) Shivaskanda Varma
(2) Mahendra Virma

(3) Narasimha Varma -1
(4) Narasimha Varma -1

80. Who among the following was the Delhi Sultan when Vijayanagara empire was founded in the

year CE-1336?

(1) Firoz Shah Tughlaq i
(2) Sikandar Lodi '
(3) Ghiyasuddin Tughlaq

(4) Muhammad bin Tughlag

81. There was a triangular contest for the supremacy of Kanauj in Medieval India between

(1) Pratiharas of Gurjara, Rashtrakutas and Palas

(2) Karkotas, Gaudas and Kamarupas

(3) Rashtrakutas, Palas and Karkotag

(4) Rashtrakutas, Badami Chalukyas_ and Kalyani Chalu

~orcr Tox ROUGH WORK
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82. Wthh of the fﬂllﬂ“’lﬂg is the wr{)]‘lg Pa‘h.l ]
(1) Dagh and Chehra - Jalaluﬂd‘" il
(2) Bandobasth s Thodaram“"a
(3) Patta system _ Sher Shah
(4) Nawroz festival — Balban
83. Wit ha, selectthem gD
; ith reference to Gauthama Budd COrrect Statementfstatements from the following:
a) He gave his first sermon at vaishali _
b) He preached the four Noble truth$ and the eightfold patp
¢) His first name is Siddharth
d) He died in 'Kushinagar'
Codes:
(1) a only
(2) b and d only
(3) a and b only
(4) b and c only
84. Match the following: ' d ;
Scientists " Theirfield
a) Dhanvantari i) supgém;_ G
b) Sushruta if) 'Asfr-oﬂo’mgr and Mathematician
¢) Aryabhata .; ' i) Alchemist -
) : R
d) Nagarjuna & ‘jv) Ayurveda
(1) a —iii, b — i, ¢ — i, d — v (5 oin(z) ity b —bie=dl, d ~1i
(3) a—ii, b—iv, ¢ — i, d — i s (s b = b e il d T
85. In 1826, who discovered the remains of Harapp2 civilization for the first ﬁme?
(1) Alexandar Cunningham
(2) Charles Masson
(3) R. D. Bannerji
(4) Dayaram Sahani
—J_
ORK
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86.

87.

88.

89.

.. chron©108icq)
Arrange the following d)’“’“ties 5 Order of their ruling period.

a) Shungas
b) Kanvas

¢) Guptas

d) Vardhanas

(1) a, bg d, C (2) c! bg d, a

(3) a, b, Cg d (4) d’ c" a, h

Who was the Mughal ruler
(1) Bahadur Shah

(2) Alamgir 1I

(3) Jahandar Shah

(4) Farukhsiyar

Which of the following scheme allows women to take pﬁaft' in investn}gntst’
1) Mahila Samman Savings Certificate o

(2) Swalilitva Yojana

3) PM'Vis}lwakarma Kaushal Samman

(4) PM Mitra Scheme

1Gresham's Law' in economics mdlcaites :
a) Good money forces bad money out of clrculatmn
b) Good bank forces bad bank out uf economy.

¢) Bad bank forces good bank out of economy-

d) Bad money forces good money out of circulation:

who ruled Delhi when the Battle of Plassey took place in 17577

(1) a only @b and c only
(3) ¢ only p ‘ (4) d only
\_’/‘_"‘lﬁ
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90.

91.

92.

re cor

rect ap,,
ut
t'Bhagyalakshmi programme' of Karnataka

: is
Which of the following stutel'ﬂ"'“t :

government? o the b
agin® irth
ourt of girl child in the BPL families.

a) Improving the sex ratio by en¢
he rural
onditions households

B“diﬁons ﬂ-t-'f the urhay Ihousehﬁld
Ll Jum dw
d) Improving the income t:m]ditlll'“f_'_".’_ic » ellers,

b) Improving the income ©

c) Improving the living staan‘ldiﬂ'ﬂl e

(1) a only

(2) b and c only

(3) d and ¢ only

(4) d only

Regarding Regional Rural Banks (RRBS)’ Wt._‘i‘:_h of the following statement is/are correct?

a) Issued capital of RRBs i§ subscribed by Central Government, State Government and sponsor

banks in the proportion of 50%, 15% and 35% respectively
b) They were established in 1975 01 the recommendation of Narasimham Committee on rural

credit. ol
Select the correct answer using the codes given below. b
(1) only a ' ’

(2) only b

(3) neither a nor b

(4) both a and b

Regarding Index of Industrial Pmductifonl (IIP) in India,

correct?

i
A
I

a) It is released by Central Statistical O I-"g'an_isaﬁi!ﬂ.-

b) Scope of index includes mining, manufacturing, const

¢) It is released on 2 monthly basis,

Select the correct answer using the codes given below
(1)a,bandc¢ '
(2)aandb only

(3)aandc only

(4)bandc only
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which of the following statements are

ruction, electricity, gas and water supply.
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ank should

1B
93. At the time of deflation, the Centr® en markﬁ ;
P Peraﬁ[’ns'

)4.

96.

97.

o0 0
a) Buy government securities under
b) Reduce repo rate GLR)
¢) Increase Statutory Liquidity Ratio (

es given belg
Select the correct answer using the cod w.

(1) a only )2 and b only
(3) a and ¢ only @b and ¢ only
Which of the following pairs js/are Cﬂfre‘:ﬂy matched?
a) Morarji Desai = De_p“ty Prime Minister
b) Bhairon Singh Shekhawat X ‘President
* Chief Justice of India

¢) E. S. Venkataramaiah il

d) Neelam Sanjiva Reddy - Vice President

Select the correct answer using the codes given below. ; ",
(1) a only (2) b only
(4) b, c and d only -

(3) a and c only

In pursuance of Article 21-A of the Constiti;tion of India, fhe Pal:}j’ament enacted the right of
children to Free and Compulsory Education (RTE) Act, 2009, which had come into force w.e.f.
(1) 1% March 2009 () 1** April 2009

(3) 1% June 2010 (4) 1% April 2010

Which of the following committee has the power to exanﬁne the annual audit reports of the

Comptroller and Auditor General?
(1) Estimates committee

2) Cnrinmittee on Public Undertaking
(3) Rules Committee

(4) Public Accounts Committee

According to which Article of Indian C I]Ilstitl-lﬁﬂnl the names of the state can be altered?

(1) Article 1 @) Article 2
(3) Article 3 @) Article 4

SRR
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99.

100.

nt conslsts of

According to Article 79, India
(1) Lok Sabha and Rajya Sabh?
(2) President, Vice-President, Lok Sabh? and Rajya Saphy
Attorney General, Lok Sabha and Rajya Sabha

(3) President, Vice-President,
abha

(4) President, Rajya Sabha and Lok

India is a Federation because
(1) It has the constitutional supremacy
(2) It has the titular head

(3) It has parliamentary systemM

(4) It has responmble executive

Which one of the follawmg is nnt a sahent feature of the Constitution of India?
(1) Distribution of powers \ |

(2) Equality of states representation

(3) Supremacy of the Constitution

(4) Parliamentary system
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